Phbf& 13 | a0y

_Hechwe

Fri: HW log S pm Thws:  Senwar WS 160
BEx: S4, 61 ,63 ¢4, 61,7334,

Lv gwes  Seme eshvahan
Mon._ WNM U\f R PEL

Tiee Yol mohgn

An object Fa“*hg new to Earlles swlae is said to be in Per-fall if
the only influgngg - on He abj&g mokon s Barths gravily . Thas cabeqony
of vobar  indides ok upwards end  downwerds veheal mohon.
Experimants show #af

) Hhe awelwahon i« oo

2t slpaton TS indepodar of te shiecks mass or V5 stake of mohan,

Wwizl A% <%  § W%~ ooy
Guizr 0% =00% & 7% — ag a5y,
{
3) nego o Eartas SWFA&J,JF‘!‘L acelwzhat s conslan?  and

a= - 4 where g= 4.80mis*
ra v

makes  accelorah o negalive clways porhve

Sine  atcduabot s orshat e Kingme e equehass  pply

Vr= Vi+adt

_ \ . ) A= — Qg mlst
YF=) Vo At+ s «(At)

—

Ve T+ 2a [yt -y))




Phys 131
Fall 2025

Fundamental Mechanics: Group Exercise 2

27 August 2025

Names:

1 Rock launch speed

A person, lying on their back, throws a rock vertically from the ground. The rock reaches a

maximum height of 3.6 m above the ground (about 12ft). We aim to determine the launch
speed and the time of flight of the rock.

a) First consider the launch speed. Sketch the situation, illustrating the rock at two key
instants. List all relevant variables at these instants.

b) Determine the launch speed of the rock.

¢) Now consider the time of flight. Again sketch the situation, illustrating the rock at two
key instants. List all relevant variables at these instants. Find teh time of flight.
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